INLET BELL INSTALLATION FOR FORCED DRAFT UNITS

The pupose of the Hudson Inlet Bell is to reduce turning losses due to the abrupt corners in fan
rings. This improves air distribution and fan efficiency.

f Fan ring
@ :? Fan guard
L [
=

Drill beil with 7/32" (6 mm)
dnll to match holes in fan
guard & install 1/4" dia.
washer head self-tapping
screws and washers

| j

3/4% (19 mm)
N

6 3/4
(171 mm)

1/4" dia. washer head —— y

self-tapping screw, ' -

washer & hex nut : / \Q
TYPICAL SECTION THRU

FAN RING, FAN GUARD TYPICAL INLET BELL SPLICE
& INLET BELL

INSTALLATION

I.  Mark off a line around the circumference about 1 1/4" (32 mm) from the bottom toe of the
fan guard angle. This will indicate the location of the upper edge of the inlet bell.

2. Align the edge of a section with the line drawn. Using a 7/32" (6 mm) drill, drill a hole
approximately 3/4" (19 mm) from the upper edge of inlet bell and about 1" (25 mm) from
the end of an inlet bell section.

3. Install a 1/4" washer head self-tapping screw and washer to secure the inlet bell section to an
existing fan guard hole.

4. Continue drilling holes in the inlet bell to match holes in fan guards. Continue installing
screws. The last screw should be about 1" (25 mm) from the opposite end of the section.
This last hole may need to be drilled through both the inlet bell and the fan guard.

5. Install the next section in the same manner. The mating ends should be butted together with
no gap between them.

6. In addiuon to the screws installed in the fan guards, drill one hole in the lap joint of the
curved section of the bell through the two mating sections. Install a 1/4" washer head self-
tapping screw, washer and hex nut to secure the two sections together. (See "TYPICAL
INLET BELL SPLICE" above.)

7. Inlet bells will require notching or special trimming around fan guards & structure during
installation. This can easily be done using a common hacksaw.

Hunson PropucTs Corroranion FIN-FAN® InsTrucTION Manvar © 1995 | OF |
INLET BELL [NSTALLATION For FoRCED DRAFT UNiTs 8-6-96



FIG. E5 - INLET BELL

Inlet Bell Sections

HUDSCN PRODUCTS CORPORATION FIN-FAN® DNSTRUCTION MANUAL © 1995 17 0OF 17
ASSEMBLY ILLUSTRATIONS FOR FORCED DRAFT, BELT DRIVE UNITS 2-28-95




INLET BELL INSTALEATION FOR INDUCED DRAFT UNITS

The pupose of the Hudson Inlet Bell is to reduce turning losses due to the abrupt corners in fan
rings. This improves air distribution and fan efficiency.

Fan ring Drill bell & fan ring with 7/32" {6 mm) dia. drill & install
174" dia. washer head self-tapping screws and washers
Top panel
PP ~dh = A~ ! I
<y E ! E i
w3 E R
Hood J! = | ST R U S

6 3/4
{171 mm)

1/4" dia. washer head —— .
self-tapping screw, . e
Inlet bell washer and hex nut \ ) 2
4 ’ @y\

TYPICAL SECTION THRU
FAN.RING & INLET BELL TYPICAL INLET BELL SPLICE

INSTALLATION

1. Mark off a line around the circumference about 1 1/4” (32 mm) from the bottom of the fan
ring. This will indicate the location of the upper edge of the inlet bell.

2. Align the edge of a section with the line drawn. Using a 7/32" (6 mm) drill, drill a hole in
the inlet bell and fan ring approximately 1/2" (13 mm) from the upper edge of inlet bell and
about 1" (25 mm) from the end of a section.

3.  Install a 1/4" washer head self-tapping screw and washer to secure the inlet bell section to
the ring.

4. Continue drilling holes about 1 ft. (305 mm) apart and installing screws. The last screw
should be about 1" (25 mm) from the opposite end of the section.

5. Install the next section in the same manner. The mating ends should be butted together with
no gap between them,

6. In addition to the screws installed in the fan ring, drill one hole in the lap joint of the curved
section of the bell through the two mating sections. Install a 1/4" washer head self-tapping
screw, washer and hex nut to secure the two sections together. (See "TYPICAL INLET
BELL SPLICE" above.)

7. Inlet bells will require notching or special trimming around structure during instaliation.
This can easily be done using a common hacksaw.

Hubson PRODUCTS CorporaTION FIN-FAN ®txstrucTion Marngar © 1995 1OF 1
INLET BELL [NSTALLATION For INDUCED DRART UNITS 8-6-96



[ -
= 44
z =

z
- =

1
, 7
1 T
____ I
h e
=
§ 3
o
"]
HLISL™ FEOUILCTS COEPIEATION FIn-Fal TETRUCTIDN bLatial, € 19935 GEF 13

ASEERAIY LT LSTRATIONS FOR TNOATED DRAFT GEAR QORTVE LHITS 1-23-1




